Z(2000)AFBINEHI  BH(2400)ESAQUKIHASI NS B (2430)NIRUKIHBR|  AIE: (2434) 2E L2 HIAIES: (110) 01 24| [2HUARAA] (S HE
d 4@ & - _
ni; = Of & oM Ol AF oM S A F &t = Jl =
2434
2SR 182,089 164,892 17,197
100
24 0) A 182,089 164,892 17,197
110
0121H| 67,923 49,856 18,067
101
0I21H| 67,923 49,856 18,067
67,923 49,856 18,067 | 10 LAIAF 012l
O MEBAIKIIEA BEQI2(XIIYD ROIH2)
31,240 X 300! X 322 = 29,991
SaF OHONSE 2ol 31,240 X 19 X 922 = 2,874
O WHEZAIXOF 22 oL 31,240 X 191 X 87 = 2,718
O RS SISHEXIYOI22(2006.1.1 &TFAIE)
35,000 X 191 X 2602 = 9,100
O SIARA0H S HEXE Fol BX02Y
35,000 X 201 X 2602 = 18,200
O RSABY ARY FH4Y
35,000 X 321 X 42 X 128 = 5,040
120
JA=ZY| 114,166 115,036 AB70
201
Bt oy 93,246 93,566 A320
93,246 93,566 A320|01 Y2
O [2er+gtl] = 70,406




ZH:(2000) AFSIOHEHHI 2 (2400) LTI ALSI DN HI & (2430) IR XA 22|  MEH:(2434) RS atel NIAIEE: (120) 2 &t X 2 H [EELALA] (21 HLY)
SIS R . _
i} < o & e ow | oA &t 3 pJ e
o PASY S - 6,180
o HEBAIXIL EXNSHEAE
40 X 50,000 OH X 50% = 1,000
o HEZAXIL ZHZ00l IHE S
80 X 25,0000§ X 50% = 1,000
o HEBAIXI S 40 X 50,0000H X 50% = 1,000
o HYUZAIXIIIZA - 2, 01QMHEE TYIE -
QiotE
70,000 X 1202 X 43] X 50% = 1,680
o PSASISEIIY SEE TYJC Y i
(2006.1.1. &1 77 Al8H)
70,000 X 124 X 23 = 1,680
° TEUSIISEENUNRES 22006 1. 14177
Al'SH
1,250 X 4,000% = 5,000
° PS4 SIISEZNY AW HE MASFQ
(2006. 1. 141 7FAI )
30 X 175,439 Xl X 195 X 10% = 10,001
o HEZAIXIL M4FBXINEE +4+2(1F1LIIE)
9709 X 59,938 XI X 50% = 29,070
o 28, BHS MEXIIEES 242 (TF1YLIIE)
38,000 X 666Z K| X 50% X 79% = 9,998
o HHESAXNEUBS44+2 (01, AAHE)
38,000 X 666 XI X 50% X 30% = 3,797
O [2222 ¥ HAl = 11,440
o HEBAIXI Z2H0 M2 g SN
220 X 50,0005 = 11,000
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